@aySunic

M8+60

Expansion Bolt

Used For Installation Microinverter

M8+60

Expansion Bolt

“~—M8+16

s

M8s60  O#

M8+60

M8x*60

Expansion Bolt

1#+2# Corner brace
Align tick mark

QUICK
INSTALLATION

VSS-250MW
VSS-500MW

acceptance. VaySunic may change the information at any time without notice.

*Such information in the document is provided for reference purpose only and constitutes nei
Region: Global REV2.4.2



VSS-250/500MW Quick Wall Installation Guide (VaySunic

Spare Parts Type:
1#: Section Bar (nstallation Microinverter) ~ 2#: Section Bar ~ 3#: Long Corner Brace 44#: Short Corner Brace
5#: ButtHinge  8#: Bolt M8+16  9#: Bolt M8+20 10#: Bolt M8+60 11#: Bolt M8+60 (expansion Bolt)
(1), Using 1#-+24# Spare Parts (2). Placed Inside PV (3). Using 8# Spare Parts (M8+16)

|
|

(4), Tighten bolts to 5N-m (5). Using 3# + 4# Spare Parts
(7). Tighten bolts to 5N-m (8). Installation Microinverter (9). Using 5# Spare Parts

Using 9# Spare Parts (M8+20)

(10), Using 11# Spare Parts (M8+60) (11), Using 10# Spare Parts (M8+60)

*Product accessories: bolts, nuts, butt hinges, etc; Without changing the material or affecting the safety of the product, the accessories may be adjusted due to the improvement of the production process without additional notice.
Region: Global REV2.4.2



